Remark: ® is not Jouuj Fer‘iodicjlnut its zero [ocus iS.
A Qlivisor on 3 ComF. man X i§ 3 4?0r‘m3| Sum o+f ch]im. 1

Subvarieties \with 7 -coefficients.
@I (E """:(C %iVQS d JiViSor‘ o (C//\'.Z(@)={Zer‘o ’ocus of @}.C

Q,c‘ouUﬂ \oerioéic wrt N n:C— C/A ~> TT(Z(("D)).

§: é—" P* hol. ($ mero. on X)J Ai/u‘(%) 5%13"04«11(8‘)1’1.
Whaz Twe do with @:Tt( Zn’u{r(@))mfis the @ -divisor.
Question: w\'lew is CY¥N\ Frjj,eca[g.?
AY)SWQY‘ (Riemam’) Conchﬁon )'. 373 Fosiri\le Q]QF. »\ermifian £orm
fhoon C% st T & s in‘tegral on N\

Hermirian metrics
X comp. man. = X has 3 comp. Structure tensor . A
Riemannian metric h on X is hermitian &5 %('50(,‘5(3)=%(0(,(3).
Rasic exam’)le:%=c’&® JE=(JK+L¢JA&B®(QJ><*LJ )=

o C H{:(AX‘SJX +J%®JJ&)+L(&%®JX—J><® /3).

3 (3/2x) =3/0x, 3(3/a4)=-3/ax.
C%eck t%e C3|cu|3ﬂon8 ('S*(ij\—‘-G’XO’S:-C]%)
3*(6%)=J%o'5 = dx).

w@,p):=h(Ta,p). wp,=hEzp,d=L(s3p,5) =
=h(-B Ta)==-h(Fa,p)=-w(a,p).
Net: fais Kahler is the aSS[:éia‘teej 9-Form w';is closed ()d(::()).
EX.I @%//\. Ex.: !PN.
Des¢.- 3 CFT ComP. man M is HoJ%e if T achst 3 Ké']q\er
metric S with Kihler form w st [wle ¥ (M, 72).
PV Wshler = every proj alg. man. wust be Wshler.
©®: Ct— G:, @) = %% (EL m™S2m +2700 M7 &), where
S s 9 %x% S m.n’vlna%rix Wwith Fositi\/e des. im3 inarj Fart
@5 construction, = @@+Y) =Al,R)B(2),AlY,»)+0, ¥eA =
=> 2 (@) is invariant under traslation LS N ~>Z (@)
deﬁnes 3 JiViSOr‘ in (E%//\.
X CPT Riemann Surface of genus %=—’»>The srace of )’\0'. {—forms on X
has " dim. q; pick 8 basis "Wy, Wy, X 572> C¥A,
M= {( S\‘ w“"')Sx W%«)|\6€H4(X,7L)i. Let e X bhe 3 hase ]ot)
we have 7(37 > (§Fwi,, (T wg)e COYA. HoJ%e-Qiemann
bilinear Pefafionsb(f:%y/\-*@“ (14/\ satisties Riemann's Conc(i‘l:ion).





